)

=7
Mk TS B 2 1

5
-%



BE = wwsismss

[l s ] s EME

B TR B TR B T A, LA TSR R 2 R L
ETEAE A=A

RIT-3RMA R A ETE . Aflrh, REEEEHEIR
A, REFERBIM4E60%, FIMIA0%INEER T =4[
2




- =

BE = mwmismss

*17-3 B TH
ary, = B — — = /g 5
| E{+%%E () 100 150 200 180 630
P AL E 200 200 200 200 200
HEWA 20 000 | 30 000 | 40 000 | 36 000 | 126 000
P I U
b RS AR 6 200 6 200
B2 (451520 000) | 12 000 | 8 000 20 000
B ZEE (130 000) 18 000 | 12 000 30 000
BE=ZFE (551740 000) 24 000 | 16 000 | 40 000
EIUZERE (BHE36 000) 21 600 | 21 600
MEWANE T 18 200 | 26 000 | 36 000 | 37 600 | 117 800




BE = mwmismss

[H1RA]) A
AT RS EER R FREI, EFENEEH
. AWK eIt A &,




BE == mwmismsig
({271
(1) THHIR P Bomn A7 55 = T B & & X a%
(2) Tt 801 7= Bl A7 58 = B BHASR 72 B i A7 B
(3) fitAEr=g= (& E+ IR R E )
—TRTH AR 7= B it 7 B
B Rk AR BB AR AR > = B R

B CGURATURFRESRF) , G323 AN = HRE A
kD —HAH] £




BE = mwmismss

17T-42MA "] W AE =T . A€ BRI BB H 1% T
HHEEMI0% ZHF . A RFEY A AR 1044, FREAF
201t

=174 AP T
L. . FE — - = | 44
iR 100 150 200 180 | 630
e T BAAR 7 Bl A7 B2 15 20 18 20 20
= 115 170 218 200 | 650
W TR EAI S B AR AR B 10 15 20 18 10
Pt A =& 105 155 198 182 | 640

(37 1 227 P B ML TSR AR e — R L Se & R s 1 i



1]

BB == swmismm

[F-Fig ] A REAERwS] T —FERAE = E, B
AR A IR IR T A EN10% %, Biit—FEA ==
FE B & 2 2 B R 1504 F120014, —FE MBI AES~EZ )
f

A. 145

B. 150

C. 155

D. 170




B b TG G ]

: C
ERT: TRUHAE P= B = Tt & B K 7 B im A7 5340

B AE 5 =150+200 X 10%-150 X 10%=155 (f) . FHE—FFF

HHAK] 7= B

DU R ATE E U FERIAAR P 752, A

o D2 FE AR 17 i A7 509 PR3 — T EHAE EII10%, B

150X 10%,



